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1. Where was the headless standing statue of
Kanishka found with Kanishka’s name inscribed
at the bottom?

(1) Mathura (2) Amaravati
(3) Gandhara (4) Nagarjunakonda
(5) Question not attempted |

2. In which Upanishad there is a mention of the
debate between Yag)}avalkya and Gargi in the
Court of Janak? | ’

- (1) Aitareya Upanishad
. (2) Katha Upanishad
(3) Brihadaranyaka Upanishad
(4) Mandukya Upanishad
(5) Question not attempted .

3. Name the archaeologist who first pointed out the
similarities between Early Harappaﬁ Culture and
Urban Harappan Culture.

(1) Amalananda Ghosh (2) John Marshall
(3) Mortimer Wheeler (4) D.H. Garden
(5) Question not attempted |

4. Who among the following compared the
“Salt March” to Napoleon’s March to Paris?
(1) Mr. Brailsford '
(2) Chittaranjan Das
(3) Subhash Chandra Bose
(4) J.L. Nehru
(5) Question not attempted -

5. The title given by the British Government to
Mahatma Gandhi which he surrendered during
the Non-cooperation Movement was -

(1) Hind Kesari -(2) Honourable ‘Sir’
(3) Kaiser-e-Hind (4) Rai Bahadur
(5) Question not attempted

6. Who among the following was not a member of
 the ‘Cordeliers Club of France’?
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(5) 3rgaRe we ‘ - ~
. P & & B wiw > FRfEt T

BT | gL A

(1) Danton (2) Marat (1) e @ e
(3) Habert (4) Robespierre S (3) ¥ AT Ry
(5) Question not attempted : - (5) IrRa W
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7. Name the Britisher who has called the Revolt of
1857 as a “National Rising™
(1) W. Tayler
(3) T.R. Holmes

(5) Question not attempted

(2) Sir James Oufram

(4) Benjamin Disraeli

8. Sir William .‘Jones has equated Chandragupta
Maurya as which of the following?
(1) Amitrochates
(2) Sandrocottus
(3) Agrammes
(4) Allitrochades
(5) Question not attempted
9. The accountant in the Shivaji’s administration
was called -
(2) Majumdar
(4) Dabir

(1) Surunavis
(3) Panditrao
(5) Question not attempted
10. Who served as the ‘Dome’ builder of Taj Mahal?
(1) Geronimo Veroneo (2) Ustad Isa Effendl
(3) Ustad Ahmad @ Ismail Khan
(5) Question not attempted
11. Who founded the ‘American Phjlosophical,
Society’? ;
(1) Thomas Paine

(3) Benjamin Franklin (4) Patrick Henry

(2) Samuel Adams

(5) Question not attempted
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M) R R (2) SR ST 3B
() SR FEIE (4) gEIEe @
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-.'F-»r (5) <RI ueA

12. Which Czar has been called ‘Czar the Liberator’ @ foa IR & $9 B rdRe gl 3§ TR

who reformed the internal system of Russia?
(1) AlexanderI (2) Alexander I
(3) Nicholas I (4) Nicholas I

(5) Question not attempted

A D U ‘TGRS TR HET AT 2?

(1) oy 1 (2) JeigoveR I
(3) e 1 (@ e I
(8) 3R ue
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13. Which of the following pa.lI' is not correctly
matched? '

() Bharavi - Kiratarjuniya
(2 Vatsyayana - Panchtantra
- (3) Harishen - Prayag Prashasti . ,
(4) Vatsabhatti - Mandsaur Abhilekh
' (Kumargupta )
(5) Question not attempted

In which session of Congress the Quit India
Movement - Resolution
August, 19427

(1) Madras Session
(3) Bombay Session

14.

was passed in

(2) Poona Session

(4) Nagpur Session

* (8) Question not attempted
15.

his death -
(1) Karaikal Ammaiyar and Gangasati
(2) Ladbai and Meera
(3) Padmavati and Sursuri
(4) Andal and Janabai
(5) Question not attempted

16. The 'Samiti' for the Jain Monks ‘not to do
violence through food' is called -
(1) Bhasha samiti |
(3) Irya samiti (4) Vyutsarg samiti
(5) Question not attempted

- (2) Aishna samiti

17. The word “Mansab” was derived from Wthh
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Name the women disciples of Ramananda who

. carried away his message from door to door after -

(1),‘“—\,@_%{’@@

-:'(3)W_W_m

i (@) et — R AP (R )

(5) g e
18. i TR 3T, 1942?#%%7%@%
B arfale 1 T Wik ga
() e R (D) T i
sy siftve (4) TR v
(5) 3R e

15, e @ w9 Aiken R @ T M g
RN ST T B TR ST W ey
- UgemIT? .

(1) FUEH PR 3R T
(2) rsaré i A

I I S S R
(4) SieTet SR SATETS
(5) SrgaIRT wet

16-&?&#%%&;@%% W gy i A
= afafy PEAT & —

? R Waﬁmﬁf%wﬁgﬁ%}?

language? (1) aredy |
(1) Arabic (2) Urdu & TS
(3) Persian (4) Hebrew PR @ Ry
(5) Question not attempted ) argaRa yes ‘

18. The book of Gupta period ‘Romaka Slddhanta 18. ‘IWTE—TH IRF b1 Ry off -
was related to - (1) i NEIBE
(1) Mathematics (2) Astronomy &) “_I 2y e ¥
(3) Technology (4) Religion & PR @) ot w
(5) Question not attempted ) TRy T

22 . Paged4of3y


https://applink.adda247.com/d/XhqWf9lSap

MYUPSC. | N

19. Who among the following were associated to the
establishment of the revolutlonary orgamsanon
‘Anushilan Samiti’ in Bengal?

(i) Barindra Kumar Ghosh
(i) Bhupendra Datta

(iii) Khudiram Bose

(iv) Prafulla Chaki

Select the correct code -
Code - \

(1) Only (i) and (ii)

(2) All (i), (i), (iii) and (iv)
(3) Only (iii) and (iv)

(4) Only (i), (ii) and (iii)
(5) Question not attempted

19. FrefeRag & @9 a3 HifaeRt

‘it aﬁwmm‘émﬁa‘&?
() aR= HAR =
(i) o= &<

(iii) GERM 9 S
(iv) Ut TqrH! ' C L 1
& e BT TIT PIIY — | ?
@e —

(1) @ad (i) 9 (i)

(2) (i), (ii), (iii) T (iv)

BB (i) T (iv)

(@) ®ad (1), (i) T (iii) .
(5) argailRe wed

20. ‘Barakar’ is a tributary of - 20. "qRIPRY’ UH FEAF oI & —
(1) Satluj River (2) Yamuna River (1) e T @ g T8 6
(3) Mahananda River  (4) Damodar River ' (3) WETA=T A Bl m 4T @I
(5) Question not attempted (5) sriRa WA
21. The ‘Israna Hills’ are located at - 21. ‘gERMT yEIfear sraRerd & —
(1) Karauli - Sawai Madhopur (1) Bl — Farg AR
(2) Sikar - Jhunjhunu (2) W — T
(3) Jalore - Sanchore &%ﬁvﬁ-\r — R
(4) Rajsamand - Udaipur (3) It — SEAR
(5) Question not attempted (5) 3R 9
22. “Tropical-wet evergreen forésts”, are mostly 22 “FOHfEFT—aTE HEEER 99", ARG 13[ =
found in which part of India? § ¥ fog T ® Ifrew ) oy €7 f
(1) Central Part ~ (2) South-East (1) 7 91T _/ezﬁfgm_ig[
(3) North-East (4) North-West T (3) SR—qd (4) W—Wﬁﬂﬂx
(5) Question not attempted :ﬁ (5) 3rgaIRe wed
23. Where is the ‘Instrumentation Ltd.” located? 23 ’?zv_\'gfl%ﬂ?{ fafies’ et safRea 87
(1) Ajmer (2) Jaipur (1) 3oTR A2 SR
(3) Kota (4) Alwar (3) dieT (4) 3reTaR
(5) Question not attempted (5) sraRa e
24. The cyclonic rain that occurs in Karnataka 24. T.ﬁ“‘f g ¥ PAlcd H BN drell ﬂ?ﬁm‘d’r aqyf

during summer is -

(1) Cherry Blossoms (2} Kalbaisakhi \/(’1')/'*‘5'3 IR L] (2) H1 A=
(3) Norwester (4) Mawat - (3) ARITR (3) AT
(5) Question not attempted (5) argaRka we
: (
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25. Which of the following is an example of Shield @ﬁq{%}ﬁ:«m 4 | P U@ w Eal
Volcano? , IIE 77 7 ,
(1) Hawaiian Islands ~ (2) Mt. Fuji (1) E18 §1TAE (2) Frgve et
(3) Mt. St. Helena (4) Vesuvius (3) ATSTT WT ol @ fagfame
(5) Question not attempted (5) 3raiRa W wil R
26. The highest tides in the world occur in - 26. ﬁﬁ'q' # waH ofiE HAE P R I § -
(1) Hudson Bay (1) gs6 @ @S 4
(2) Bay of Fundy %(Z)/WU@[ B @l
(3) Bay of Bengal (3) Fme B @ A
(4) Mediterranean Sea  / (@) qeg AR
(5) Question not attempted (5) 3raRa weA | x '
27. The instrument for measuring relative humidity ~ 27- WA s 1 AU ¥ SUBRY § —
is - (1) e (2) BT3UMIeR
(1) Anem(.)mcter | (2 Hygrometejr Jﬁ/m %\Rﬁ’lﬁ @ -
(3) Aneroid barometer ' (4) Hydrometer :
(5) Question not attempted ‘ () Srgeifer s i
28. Which among the following is/are hot winds? 28. Prefifte ¥ W BT T LI g/8?
" (A) Fochn A) B
(B)  Mistral B) frga
(C) Chinook ©) ﬁﬂ:cﬁ./‘
(D) Bora (D) aRT%
- Select the correct answer from the code glven Y m T e I T IR Fr ?RFI W i
below - HE —
Code - | ‘ ‘MA)W@W% |
SO et
(3) Only (C) is correct ©) W (Q-\E@ g &
o @A) TrTD) e § -
~ (4) (A) and (D) are correct  (5) orgeRa e
() Question not attempted =
29. Who recognized the two major layers of the - 29 F¥E g WAEeH B q_azﬁ Bk ﬂ'ﬂ'@ tﬂﬁ frem
' Earth as Crust and Substratum" ' 1=|Tﬁﬁ? D
(1) Daly " (2) Suess | W@?ﬁ (2) qow
(3) Pratt (4) Holmes : 5, .?&-' (3) Ye @) =g
(5) Question not attempted o (5) rgaiRaT weA
30. The average Albedo of the Barth is - 30. gt 7 aivea YRaer % -
(1) 35% (2 31% (1) 35% () 31%
(3) 47% @) 27% 3) 47% MY 279
(5) Question not attempted . - (5) argaRa uew | '

22 ¥
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31- Which of the following Iron and Steel Plant was 31 fm=ifaifaa § § @ ce—s<ara w4 wﬁl

set up in’'collaboration with Germany? ® FEArT 9 @nfig fear Tar &7
(1) Bokaro Steel Plant (1) FBR T TG
(2) Hirapur Steel Plant ' (2) ERTR 3T wEF
(3) Rourkela Steel Plant R ) RBFRISRS T T |G a5
(@) Bhilai Steel Plant . _ ) oS T wid
(5) Question not attempted _ _ (5) I gaRa ue :
32. Thé ‘Tig-saw-fit’ Jevidence is related with the 32. grg—wengqr yaor g Rigia @ GefeT &,
theory of - | TR —
(1) Geosyncline Theory - Kober (1) =iy Rygid — PR .
_ (2) Continental Drift Theory - Wegener h ey et R Rigid — 3R
(3) Plate Tectonics - Hess . @) we ﬁaﬁﬁaﬁ — 89X
() Convection Current Theory - Holmes  (8) §aeT 99T Rieid — g’rﬂqx
(5) Question not attempted : (5) IrgaRa wes b
33. Identify the river of Rajasthan on following 33. fF=iferiRaa weai @ TR X XIS @) A
- facts - BT U BIOTT —
(A) 1t originates from Haripura Village Hills (A)  FE <1 SRR T @t veIfsEt (RriteTs)
(Chittorgarh). . | I el B
(B) It meets ~ Chambal River. near - (B) I8 a=e 74 F 'ﬁm a% g e
. Bhainsroadgarh. . SR B |
Code - "y, @c — ‘
(1) Mez (2) Bamani - RN ' A2y
(3) Gambhiri (4) Chakan ?;ﬁ (3) =8 ' (4) =epor
~ (5) Question not attempted (5) arfaRa ue
34. Garh, Kotri and Mangrop are mining areas of - 34. 373, PHIe AT HRIT G & § —
(1) Magnesite () Chiria Clay (1) e X @ e w
-(3) Silica Sand (4) Fire Clay ' 3 et s (4) BRR Fix
(5) Question not attempted : o (5) raRa weA
35. The ‘Nubra Valley’ is situated in - 35. "o =Y Rerd & —
(1) Ladakh range (2) Shivalik range =~ ° ATERT AN H T (2 R Sof
(3) Karakoram range  (4) Zaskar range @) FRIGRT A0 F (4) SR Ao F
(5) Question not attérnpted (5) Irg<IRT wed
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41. Which one of the followin t i o kY .
regarding the Consumer E(gl Siﬁ:r[i]:;?is is correct 41 wmww%? @ "y ¥ = A 9 3
(1) The slope of the indifference cu-rve is less {f)a:aqm qsh BT qole @I & "
than the slope of the budget line, S i aId, E’!?'I
2 “ the indif .
(2) The slope of the indifference curve is greater (2) Texerdl aF @1 <ld, duie ¥l a}
than the slope of the budget line. 3ifere adT 2 | :
(3) The slope of the indifference curve is equal 3 Ry 9% BT ard, davie Y@l B ara
to the slope of the budget line. IR Bal 2
(4) The consumer’s valuation of the
goods is @) gxgsii @ SYHTTIT Ilamﬁl
greater than the market valuation. ;ﬂ;ﬂ_wﬁ s Bl -g? )
(5) Question not attempted (5) ST e
42. If too much money is chasing tODfew go_o@s the 42. gfe qga AWF FaT 9gd FH A B ﬁm
resulting inflativn is known as <~ el & A1 TP gRUTTERY il aﬁﬂ
(1) Stagflation Gt 1;‘ = ETAI Tl & -
(2) Demand-pull inflation i ,
(3) Cost-push inflation gl g} A o
(4) None of the above D L
(5) Question not attempted (5) argeRa WA
43. f Government imposes an excise duty on the ¢ 43- fe PR ‘X' aF N SR &P SRIGIRS
commodity ‘X’, then - ar —
(1) Supply curve of commodity ‘X’ will shift to /(‘Tﬁﬁj X’ &1 gfd @ 9l WP faafda &
the left. ST |
(2) Demand curve of commodity ‘X’ will shift to (2) a¥g X’ BT AT T i o faafda &
the right. ST |
(3) Supply curve of commodity X’ will shift to @) axg X’ BT gl IH ifeht R faafda &
the right. SR
() No change in demand and supply curves of (@) X’ @ ®T @ tgﬁf aa?t i o8 uRads 8l
the ‘X' I |
(5) Question not attempted (5) JraiRa UE
" 84. 1, which of the following situation the primary aa. fy= F @ frw ORRUR § TR & q9ic D
deficit of Government Budget tends to be zero? greifie =eT I arT?
(1) When fiscal deficit is zero (1) 54 ISP =1l I
(2) When the net interest payment is zero (@) v/ & @ A I 3
:i; xhhen refver:lle 26?01: tegdit?l:le fzmmterest . (3) Wig g "rer . 2 War 8
cit i
payfr?entlsc ehelt 15 <4 Ay ST TIeT S T @ AR §
(5) Question not attempted (‘(5) ARd WA
" 485. Which of the following 1s most liquid measure of "Wﬁ q TFJ gfef o1 et 3 ¥ PRI A0 AR
money supply in India? = .
() M, (2) M ..""F (1) Ml (2) M4
(3) Ms (4) M3 (3) M2 @) Ms,
(5) Question not attempted (5) Wﬁa RS
-
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- Which of the following statements are correct
about Keynesian Consumption Function? Select
correct answer using code given below -

(i) Monetary consumption is a stable function
of monetary income.

(i) Marginal Propensity to Consume (MPC)is -

positive and less than one.

Long run MPC is more than short run

MPC. .

(iv) APC falls as income increases and MPC is
less than APC.

Code - _ -

(1) (i), (ii), (iii) and (iv) are correct

(iii)

(2) Only (i) and (ii) are correct -
(3) Only (i), (ii) & (iii) are correct
(4) Only (ii), (iii) and (iv) are correct
(5) Question not attempted

Consider the following statements with Indian”

reference — N
(A). Mz = M; + Time Deposits with Banks
(B). M; is also known as Aggregate Monetary
Resource.
Choose the correct option -
1) Both (A) and (B) are correct
2) QOnly (B) is correct
3) Both (A) and (B) are 1ncon'ect
4) Only (A) is correct
5)-Question not attempted
-onsider the followmg statements regardmg
AGNREGA -
. It was started in 2006.

L ="

MYUPSC. | N

ﬁmﬁﬁﬁa@maﬁwﬁmﬁvwa

m#w%?ﬁﬁa@wmwm

gV W& IR T -

() Hifes ST, Hifte 9 B ReR B
2l

i) wwAnT @ g wgRi (MPC) Er—n?qzﬁ
M UF ¥ BH gl B | ]

(i) dFFAT MPC, @i MPC @

, fw E Bl

(iv) amaaﬁwAPcm%aaTMPc APC
ﬁ_fﬁna‘l‘cﬁi’l

R—

() (i), Gi), (iii) & (iv) & &

(2) BT (i) 7o (ii) G& &

(3) Bae (i), (i) AT (jii) TE &

(4 B (i), (iii) T (iv) TE &

(5) argaRa e

4a7. mﬁuvﬁﬁwﬁﬁwmwﬁaﬁaﬁ—

(A). Mz =M, + §31 & 919 \@fy s :
(B). M3 1 49U Hifeds e ) H81 o & |
& fawen g —

(A 3R (B) Il Y &

(2) Sa (B) | 2

(3) (A) 3R (B) IFT AT &
@) Bl (A) HE 8

(5) s 7%

48. T B ey § A P o) AR BN —

A, 3UB! FOAT 2006 H g off |
B. §W® qed, NREP iR RLEGP &I faera

Under it, NREP and RLEGP were mergeg X fear
hoose the correct option - & fadey T’ﬁ -
) Both A and B are incorrect . (1A 3R B 2 Tera g
) OnIyA is correct o @ Tad A G &
' Both A and B are correct WA@?B T 98 &
Only B is correct (49 39 B WY 2
Question not attempted (5) argiRa oA

Page 10 of 32

49. fre ¥ A 99 O Rwe &1 979 DR, A

49. Choose the correct option that shows —
(a) Number of Sustainable Development Goals, (a) ool faera el o &, 17
(b) Year of its declaration and (b) 39 Bgom B aq SR Ler5”
(c) Year of target-achievement (c) HeT—]YAfRT qns®
respectively from the following - PY HAI: ST B —
(1) 7,2000 and 2015 (2) 15, 2000 and 2015 (1)7,200031% 2015 (2) 15, 2000 3R 2015
(317,2015and 2030 (4) 20,2020and 2030  A3717,2015 3R 2030 (4) 20, 2020 31X 2030
(5) Question not attempted (5) 3@?(%_ gE
50. Usual status of unemployment is also known 50- 3RISFTS # wra Reifd 7@ 0t Peard & —
| 8 - ' (1) T RS R
‘\ | (1) Cyclical Unemployment @) fodh g€ AT
| ::; Hl.dd.en Unemployment (3) T ARIGTly
i gnctmnal Unemployment iy !gﬁﬁe ; p
[ pen Unemployment
}‘ { (5) Question not attempted : (5) srgaRRe we
' 51. Match List-I with List-Il and select the correct 51 FHAI-I &1 GA-11 ¥ fdM & iR 1@ A
answer by using the code given below the lists - A gy we @1 S FRd gY HEl SR FI
List=1 ggT W —
(A) Arithmetic Mean -1
(B) Median 4% (A) WHRR A
(C) Mode w (B) wWifaa®T
List - 11 (C) dgas
(i) It divides the distribution into two equal T - 10
~ pans. O S} ﬁmaﬁﬁmwﬁﬁﬁqﬁam
(ii) Itis a stable measure of Central Tendency. =
(iii) It is the best representative value of the (i) € PR WYRT H GRRR 99 2|
() series. (iii) T AN 1w wafa = 2
Code - xHE —
‘ (1) A—(iii), B-—(ii), C—(i) (1) A—(lll) B-(ll) C—(l)
(2) A—(i), B—(ii), Ciii) (2) A—(i), B—(ii), C—(iii)
(3) A—(i), Biii), C~(i) (3) A—(ii), B(ii), C(i)
(@) A—Gi), B—(i), C(iii) ASFA~Gi), B, Cii)
(5) Question not attempted i (s AT e
52, What will be the value of Mode in a moderately ~ 52- #feaa1_280 3R Arh_310 arel WA IrEEAT
asymmetrical distribution with Median 280 and gea i qEH B A T e
Mean 310? (1) 200 %fo _
{1) 200 #:220 @3 320 () 290 A=
(3) 320 (@) 290 (5) SR S M = 2&0
(5) Question not attempted ~ ( >0 ‘ z =%
5 Q
¥ 290 - 3M —2X
22_;14 F—f!oo_ X1 Page 110f32 22 - 180-&7(3.10
~c0 Buo- (0 guo - €20 -(220]
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.« and the cash reserve ratio of Central Bank is
} 10%, statutory liquidity ratio is 25% and the
i unutilised ratio of deposits with banks is 5%,
then the total deposits will be -
1‘ (1% 15,000 (2) 320,000
i (3) 330,000 (4) 25,000
(5) Question not attempted
54. As one moves upward from right to left along a
negative sloped straight line demand curve, the
value of price elasticity of demand -

i (1) remains constant. »
s

‘; (2) first increases, then decreases. '

i (3) decreases. & -
{l (4) increases. M
(5) Question not attempted Wi

55. Which of the following indicators is not included
| in the construction of Physical Quality of Life
ll Index? "

} ‘ (1) Infant mortality rate (2) Per capita income
i (3) Basig literacy (4) Life expectancy
' (5) Question not attempted

56. Considér the following statements —

MYUPSCII'N

53. Suppose the primary deposit of banks is ¥ 10,000 e e fo do1 H WD Ty gy, consider the ollowing regarding  Cross

10,000 T2 ok DT 9B BT TP IRfg
orgaT 10% ¥, FNfe TR U 25% 3
AR ¥ B g T AR B IR AU
5% 2, Q1 el ST IR B —

(1) 15,0003 (2) 20,000% -
(3) 30,0002 (4) 25,0003
(5) srgaRa we

54. fref O T B WA NG AT TH |
T W g SR P AR AR FE R® AT B
Coun i
(1) Rer & 21
R b (2) Tget gedt B, v wed 2
E}-j(s)aam%l
M T 2
(5) argaiRa w1 pPOL T
55. fam1 4 ¥ fbw Wahas &1 SfieT & ifs Toman
TEaie o i o wfafea T8 fear mar 82
M Rg I (2) wfq afd ama
(3) SR WTERET 4T S weTan
(5) IrgalRa we

$K(56) Pret pert R @t —

< 57. gt 41 Sl A" (e,y) B WA A fAF W
" Elasticity of Demand (e,,) - ==

! fram =% —
~ (A). If x and y are substitutes, then Cxy is (A). TfE x 3Ry WA=t &, @ e,y HOTHS
# negative. Vol
®). If x and y are complements, then Cay is (B). f2 xRy & g ol e,y HATHE ad &
geRie- | (©). TR x R y <t A &, @ vy = 0 O
(C). Ifx andy are not related, then exy =0.
Choose the correct option -

(1) Only (C) is correct

g1
Al :
A A | LS g -
_ql]"f'
(2) Only (A) is correct :

(1) daa (C) wé &

} (2) dac (A) T8 &
' (3) All(A), (B) and (C) are correct (3) (A), (B) 3R (C) Wit wél &
(4) Only (B) is correct AT (B) T B

~ (5) Question not attempted (5) srgeRa W

: 58. fpifda § | wRa @ Wik A f&a WA
@ gRT T 352(1) # ¥ “wrake s
< e Tl &7
(1) 46ai wawE afafazay

* 88. From which of the following Amendments of the
" Constitution of India, the words “Internal
~ Disturbance” have been subtracted .from
Article 352(1)?

(1) 46" Amendment Act

’ ey -A2) 4477 FOUE IAFAEH
~ (2) 44" Amendment Act ?.:"._/(3) Pl
(3) 42™ Amendment Act . “}”a fafaEs
~ (4) 39" Amendment Act (d) 3937 wemE JRfAEE X
(5) Question not attempted (5) argaRa we

5. fosifba d @ R @@ A wgw g A

9 In which of the following year, United Nations
: ‘Rraifyam Iaawie Aew JYA?

has adopted the "‘Millennium Development

‘ A Goals (MDGs)"? (12000 (2) 2015<
(A). 'Elhange in fieman: mea:s a mov:ment (A). =0T % ot @ anef & avg & Pa (1) 2000 (2) 2015 (3) 2020 - (%) 2001
ong a given demand curve for a i gRadT @ gRomHEwy i 3 (4) 2001 R
commodity as a result of change in its i @ R 2020 i d &) e
e ? R R § 2 : ~ () Question not attempte: o @ e 3 4
S . . o B). = F uRade W 0. According to Almond and Powell, which of the .311‘1"3 RICE S HTHR. Prfafaa
(B). Change in quantity demanded is a shift in ®) q:wﬁ ™ W i ALK following are the outputs of a Political System? TR AR waen @ fefa 8
the entire demand curve of a commodity HT 9 A & i fah afi @) () Regulative outputs (n fafams frfa
resulting from the change in the Afew ama A BfRl ar o aegat @ p (I) Cumulative outputs (n s frfa
individual’s money income or tastes or P % gRads @ aRemEsy B &) ‘(Ill) Distributive outputs (1 R fanta
prices of other commodities. w8 fwe T — k- (IV) Symbolic outputs (Iv) wdrarera ffa
~Choose the correct option - (1) (A) ¥R (B) 2 Tor & Choose the correct option - wd fRAws gfa -
(1) Both (A) and (B) are incorrect R (1) Only (1), (II) and (II1) (1) BT (1), (1) 3R (1)
@ (A) 3R (B) < W & A MR (v
(2) Both (A) and (B) are correct s (2) Only (1), (I1I) and (IV) (2) Bast (1), (1D AR (IV)
(3) Only (B) is correct ) @t @) wdt @ (3) Only (1), (11I) and (IV) (3) e (1), (11D 3R (V)
(4) Only (A) is correct @) Bt (A) v & (4) (, (1), (11 and (IV) () (. (1D, A1 3R (1V)
() Question ot ftempted ) Fgaia w7 (5) Question not attempted (5) argafa ae
22- \ 20f 32 Page 13 of 32
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61. In which of the following year, the ‘United
Nations Interim Administration Mission in
Kosovo’ has been established?

(1) 1995 (2) 1998

(3) 1997 (4) 1999
(5} Question not attempted e

62. Which of tl;e following statement is not correct
regarding Political Theory/Ideas?

(1) Medieval political thought was wrapped up
with the dominance of Christian Theology in
intellectual life.

(2) Political Theory up to and including modern
period has beén a textual tradition.

(3) The classical political thought is concerned
with the questions such as the good
coxﬁmunity, the obligation of citizenship.

(4) Contemporary » Political Theory has been
inﬂuenced by the ‘foundationalist turn’ in

1970s in Political Theory.

(5) Question not attempted -

63. According to Part-V Chapter 1 of the
Constitution of India, which of the following is
not included in the Executive of the Union?

(1) Président ‘ "

(2) Comptroller and Auditor General

(3) Council of Ministers

(4) Attorney General

(5) Question not attempted

MYUPSC. | N

(60) it 4 2 v 3, XD WY g

 sjaRe e R @RI B Y
(1) 1995 (2) 1998
(3 1997 #1999
b s

(82) wrorifers Rigia /Rar A st fmfed 3

¥ BT T A A 27 _
ﬁiﬁmmmmmammﬁ
S gand et 3 i 9 SR o
2) IS FId aF oS Rigld (@ gred
(Ragaerd) wuvT W@ 2| ’

@ el WHRT fUR oW WiEM, |

TR @ T S T @ R 2

T g3 2
(5) srgaRa v
63. YRT & WRAYM F WI-V FHWE™ 1 P IER,

W B oHRm 4 P 4 W @ |

feafer T £
(1) Trzafy-

- (3 R
(;t) HE AT
(5) rgaRa e

22 - ¥
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64, Match List-I with List-I and selecy the correct
answer regarding the Act and Amendment in the
Constitution by using the code given below -
List-1
(Act)

(A) Constitution (Ninety-third Amendment)
Act

(B) Constitution (Ninety-fourth Amendment)
Act

(C) Constitution (Ninety-fifth Amendment)
Act

(D) Constitution (Ninety-sixth Amendment)
Act -
List-11
(Amendment)
(i) Amendment in Article 334
(ii)) Amendment in Eighth Schedule
(iii) Amendment in Article 164
(iv) Insertion of Clause (5) in Article 15
Code -
(1 (A)-(ii), (B)-(iv), (C)-(i), (D)-(iii)
(2) (A)-(iv), (B)~(iii), (C)~(ii), (D)-(1)
(3) (A)-(iii), (B)-(ii), (C)-(iv), (D)-(i)
(4) (A)-(iv), (B)-(iii), (C)-(1), (D)-(ii)
(5) Question not attempted

~ 65. Consider the following statements regarding

P R Sy S o g —
s Rigia § et A A |

‘Mission SAGAR' -

(A) It was launched by India in 2020 to
enhance Joint Military Exercises with the
Indian Ocean region countries.

(B) It is consonance with the India’s vision of
‘Security and Growth for All in the
Region’ (SAGAR).

Choose correct option -

(1) Both the statements'(A) and (B) are not

correct !

(2) Both the statements (A) and (B) are correct

(3) Only statement (A) is correct

(4) Only statement (B) is correct

(5) Question not attempted

- Who among the following scholar argued that

the ‘state can only secure negative liberty,

positive liberty is beyond the scope of the state™?

(1) John Rawls (2) Gerald C.

MacCallum
(3) Isaiah Berlin (4) C.B. Macpherson
(5) Question not attempted

64. -1 @1 {gA-11 A fAar ad s wfatay
afiy wfdura 4 fav au g @ paa b oaa
fag my @z @ g @ gy whl 3o g4 -

-1

(wfafags)
(A)  wfaur (fawrqadt damus) sfafqas-
(B) wfdur (aRradi wymaa; stataas
(C) wfaar (Framad =) sifafus-
(D) wfgars (Fowmaat wwma=) sfafaay

11 g
() |
(i) SFfET 334 7 AW o
(i) STSdl SR & TN T L

(iii) STWT 164 d FURA < 4 ';
(iv) AFEWT 15 § TE (5) # J F@mns
ﬁ‘:(_' -
(1) (A)(ii), (B)-(iv), (C)-(i). (DF(i1i)
SAFFIA)-(v), (B)-Aili), (CLiii). (D)
(3) (A)-(iii), (B)-(ii). (C)-{iv ). (D)-(1)
(3) (A)=(iv). (B)-(iii). (C)-(1), (D))
(8) argerfia we
65. 'y W A wRfa fysfataa ween @
faar @feg — .
(A) T ¥RA g1 R wErrR 85 & qm @
I WYER E 0 4E & fE 2020
N g ar ang
(B) Ue ¥Ra & gl &a A wh & fag
e iR fadTE (FrR) & sy &)
ad fawen gfaa —
(1) A (A) AR (B) S @& 71 &
A2V B (A) AR (B) I W @
(3) Tad HUA (A) A &
(4) ad T (B)ywd) &

(5) e we

Prefafaa Rerl & @ faed ue @@ 2o fa

AR DA ADRIGHE [WAAT $1 21 &R q@H
2, AORIHD [ T & SR A | 27

() S A (2) e @ Awdan
(3) gomare afeds (3 W& aww=
(5) argafia ww
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" 67. Consider the following steps of Scientific
Theory Building Process -
(i) Hypotheses
| (i1) Classification of data
[; (iii) Verification
i (iv) Generalisation
b Arrange the above steps in correct order -
(1) (i), (iii), (ii), (iv) (@) ), (ii), (i), (v)
(il (3) (iv), (iid), (i), G) @) (iv), (i), (iii), (i)
| (5) Question not attempted
68. Which of the following countries are not
included in ‘_BQFM Economic Corridor’?
()  Bhutan
(II) China
(IIl) Maldives
(IV) Bangladesh
Choose the correct option -
(1) Only (I) and (II)  (2) Only (III) and (IV)
(3) Only (D and (M) (4 Only (II) and (IIT)
(5) Question not attempted

69. Match the List-I with List-1I —
List-1 v
e (Committees of Constituent Assembly)
‘, B () Union Power Committee
“ 5; (I) Committee on Fundamental Rights and
Hit ] Minorities
i‘ I (III) Order of Business Committee
il (IV) Drafting Committee
| List-I1
(Chairmen of the Committee)
(2 B.R. Ambedkar
(b) J.L.Nehru
(¢) K.M. Munshi
(d) Vallabhbhai Patel
Code -
(1) I-(c), II-(b), ITI-{d), IV-(a)
(2) I-(b), II-(c), TI-(d), IV-(a)’
(3) I-(d), II-(b), IMI-(c), IV-(a)
(4) I-(b), II-(d), I-(c), IV-(a)
(5) Question not attempted
70. In which of the following year India-Sri Lanka
Free Trade Agreement came into force?
(1) 2009 (2) 1998
(3) 2000 (4) 2005
" (5) Question not attempted

67. e Raia P S &
R fRER P —
(i) s TR RN
iy i @ R
(iii) qAmH ‘
iv) WM™ AT 3 :
%rrg?ﬁ ol @) L | mﬂﬁf’ﬁaﬁﬁm -
() G, G, (i), Gv) AD @), (i), @), (@)
@ Giv), Gii), Gi), @) (4) @v). (@), (i), ()
() argaiRa W
68. 'ﬁwmmmmﬁmﬁ
J Y v wftafem TELE2
I EE
an ==
(Imy wrersE”
(IV) diTdRy
w8 e gfFd -
(1) B (1) 3R (1) —42f @t (I AR AV)
(3) Faat (1) 3R (M~ (4) e (1) 3R (11
(5) g o G
69. w1 &1 e G-I 9 ST —
1

- |
(@ o A At

(1 wu ik aff
(I 7 JIR |G JeETD
am o Haed
(V) w9 Afifo

qA-11

(afife & arez)
@ dr
(b) WG4 TEw
(c) @xA F
(d) qoei WS
HF —
(1) 1-(c), I1-(b), IN1-(d), IV-(a)
(2 I-(b), II-(c), MI-(d), IV-(a)
(3) 1-(d), TI-(b), TNI=(c), IV-(a)

A L-(b), [-(d), I1-(c), [V~(a)

(5) srgaRa weq g
ARG—4TeidT g AR | Frafaiaa §
¥ fra ad @y gan? iy
(1) 2009
(3) 2000

(5) srgaRa we

17~

(2) 1998
(4) 2005

22
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\7i- Consider the following statements  about @ﬂfﬂ)‘ﬂﬁ‘ldi ra @ AR W fenonoa s
\

Procedural Justice -

notion of Procedural Justice

(I The

\ corresponds  to the philosophy of
Socialism.

(1) It treats the rules of Market Economy as
the model rules of human behaviour.

Choose the correct option - _

(1) Only statement (II) is correct EL

(2) Only statement (I) is correct

(3) Both the statements (I) and (Il) are correct

(4) Both the statements (.l) and (II) are not correct

(5) Question not attempted

faar @fom -

() wfdares = @ R, HHIAATE @
g @ s B

() ug AR HdaE & fawn @ "e
arqeRr @ sed fust & w1 i e 21

w# faseu gfa -

(1) daa @ (1) a2

(2) Faa wu (1) Gé1 2

(3) wa (1) iR (1) < wd E

(4) e (1) 3he (1) @At i i 8

(5) argafa g

72. Who among the following scholars considered @ﬁﬁlﬁif@ﬂ fagrt d4 @ feua wqu=al s

liberty and equality as *Complementary
Principles’?
(I) R.H.Tawney
(1) F.A.Hayek
1) CB. Mécpherson
(IV) AD. Tocqueville
Choose the correct option -
(1) Only (1) and (I11) are correct
(2) Only (11) and (IV) are correct
(3) Only (1), (II) and (I11) are correct
(4) Only (1), (11I) and (1V) are correct
* (5) Question not attempted
73. Who among the following considers Political
Science as a ‘study of influence and influenced’?
(1) Max Weber (2) H. Lasswell
(3) Richard Bellamy ~ (4) Steven Lukes

(5) Question not attempted

FE & RS g 5
(1) 3mrva el
(1) YHY. TS
iy @A AFHHE
(V) vé adfaa
@ e &1 aws dfaa -
(1) @aa (1) R (1 wé &
(2) daa (1) AR (V) W &
@) daa (1), (1) 3= (1) e &
(&) axad (I, (111 3R (V) &6 &
(5) arpaflRa W

(73) fr=ifra A A @A AR s @ miE g

mifaa @ @1 AW HAar 82

(1) R AR (2) va. S
(3) Rud @t (4) Whaa ®@

(5) arala u¥
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74. Consider the following statements regarding the

Security Council of United Nations -

() The decisions of the Security Council on
procedural matters shall be made by an
affirmative vote of nine members,
including the concurring vote of the five
Permanent Members of the Security
Council.

On all other matters, the decisions of the
- Security Council shall be made by an
affirmative vote of nine members.
Choose the correct option -

.

(I

1 it
(1) Both the statements (I) and (1I) are not correctx® i

(2) Only statement (I1) is correct
(3) Only statement (I} is correct
(4) Both the statements (I) and (10) are correct
(5) Question not attempted
7S- Which of the following subjects are included in
the State List of the Constitution of India?
(I  Insurance
(I) Capitation taxes
(II) Fisheries .
(IV) Economic and Social Planning
Choose the cormrect option -
(1) Only (T) and (1)
(2) Only (II) and (IIT)
() (), (), (1) and (IV)
(4) Only (II), (11I) and (IV)
(5) Question not attempted

76. Who among the following is author of the book
‘Capitalism and Freedom’?
(1) J. Macpherson (2) Isaiah Berlin
(3) Milton Friedman  (4) R.H. Tawney
(3) Question not attempted

77. Who stated that “religion is so universal,
permanent and pervasive in human society that

we cannot understand society without clearly

understanding religion”?

(1) B. Malinowski (2) EB. Tylor

(3 A.R. Radcliffe (4) K. Davis
Brown ‘

(5} Question not attempted

W owgm g P G L

frefeRad Toml W AR & — /

() v W A W YR 9Reg g
fiofa <t weEl & FPRIS 79 /o
wewi @ gedfa A A1 wfufera &

(ID 3 I Al W, G UReE & fufy
A wewll @ woReE 77 ¥ fay W

@ e g -

(1) o (1) vd (1) 31 | 78 &

(2) Fad FF () ¥E &

Qzza s puEdE

AT ()T ()

(5) 3rgoRa we

7S. Freafaf % 3 T Ava R @ W A |

g g # wfafem &7
VL

(I vl sw

am =ifeerat

av) e iR amfaeE doEr
e e a1 77w g —
() @a (1) 3iw (1)

(2) et (11) 3R (1)

@) (@), (I, (1D 3R (1v) e .

| MY aE (), () SR (1Y)
() srgafa v

@ Frfafe & & @ dhefmm R"’E'.wﬂsn‘
W%mg? i ,.; :'

(1) . Ypwpdq
() e wisie

(2) gwmarE IR
(4) Ry, <+

(5)31§ﬂﬁﬁu'¥?[ F

77 TE fEdT B & 5 AT WA A e gaen
A, I v e @ oo @ e
;’i“mmﬁwﬁaﬁmm
O & TlFad 238, erer
() T, YeRes AT @)3, A
(5) 3rgafa ues ' .
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178. What is the name of the book written by Herbert
"\ Spencer which is the first work of sociological
\ analysis?
A (1) Elements of Sociology
(2) The Principles of Sociology
(3) A Handbook of Sociology
(4) Sociology
(5) Question not attempted
79- Who believed that social classes are a
characteristic feature of industrial societies?
(1) Yogesh Atal (2) M.S.A. Rao
(3) S.F. Nadel (4) T.B. Bottomore
(5) Question not attempted

80. Who among sociologists
considered a ..science that
systematically studies and explain overall
perspective of society?

{1) H.W. Odum (2) P. Gisbert

(3 FH.Giddings (4 LF. Ward
(5) Question not attempted

the
sociology as

following

81. In structural terms, who has explained castes as
“hereditarily specialised and hierarchically
arranged groups”, while as a system, he has
referred to its three characteristics: hierarchy,
hereditary specialisation and repulsion?

-+ (1) S.N. Dasgupta (2) M.S. Gore

(3) B.R. Chauhan (4) C. Bougle

(5) Question not attempted

82. Who has analysed the functions of caste at two
levels - ritual and ideology?
(1) M.N. Srinivas (2) Narmadeshwar
Prasad
(3) RK. Mukherjee  (4) D.N. Majumdar
(5) Question not attempted
83. Who has said ‘Primary groups are the nursery of

human nature'? ‘
(1) C.H. Cooley (2) Emile Durkheim

(3) Auguste Comte ~ () GH. Mead
(5) Question not attempted

e Pt
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78. yurorarey fardnm weA ard wus gla el
QAR g ferdl wg e wt am Am 27
(1) v aife et
A2 T fafraue offw ittt
(3) v gvsqam oifw @ftrnetan
(4) wnfararatsh
(5) argafa u
ae farwa ween & f wpnfae @i st
Al @ e qerr &7

79.

(1) arrn sed (2) vqyan d
@) waus AEd AT A& aen
(5) argafa

. e A A faw GEITITERl A EESTE Eat
Gl @ UHU WEY &1 pndg snaud U
e & aran fagr e 87
(1) vase] e (2) G foraad »

(4) TAUE. Whx

(5) argaifa weA

81. yRed gfte |, fEaa snfaar @ 'z'xrf_{n-fs

w1 A Rftre sk weEE@Rs w9 8 aatEd

E D B A FHEE L, Fafd ve word @

U § TEm gad dF fadwapn &1 SeaE

frr # gerws g fawwgm oR
ufwdur?
(1) TA.gA. S (2) gsgd” MR

AT DR, WEW (4) . dnra

(5) arqaf¥a weA
82. Gifa @ @Il @ fhaa @ 'R — weeiid ok
Jofls R fArama B e?
AN S| (2) e gwE
(3) IR.B. E{HGﬁ 3) Ao HOHER
(5) argaita e
83. yfivs WE WA I A aifaer (i) &
e fua wer 87
(N ga o@
(3) aifiree @Y
(5) arqafia get

(2) vfta gedine
(4) chroa Wrs
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"84. Qut of the following which is not an important
source of social change? :
(1) Integration (2) Discovery
(3) Invention (4) Diffusion
(5) Question not attempted

85. Which of the following according to Yogendra
Singh is not a cause of change in the Caste
System?
(1) Modernization (2) Urbanisation
(3) Industrialization -~ (4) Privatization
(5) Question not attempted

86. We can know that sociology is a scientific
subject based on the four points given by

H.M. Johnson. Which of the following point is
not one of them?

(1) Cumulative — (2) Theoretical~
(3) Empirical «— (4) Ethical
(5) Question not attempted
87. Which of the following is not one of the
measures for eradicating poverty or at least
reducing it significantly?
(1) Distributive justice
(2 Land-manratio

(3) Creating employment”
(4) Flow of black money,
(5) Question not attempted

88. In the Purushartha' System of Hinduism, which
Purushartha is considered as the ultimate. goal?
(1) Dharma _(2) Moksha
(3) Artha (4) Kama
(5) Question not attempted

89. In ancient times, what was it called when a
woman was allowed to have sexual relations
with a man other than her husband for the
purpose of procreation in the family?

(1) Incest (2) Tali sanskar
(3) Niyog (4) Kareva
(5) Question not attempted

22-
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86. .0, i T Y Y AR RGeS o |

W T AF G5 ¢ & GAER UF d9e
Hi‘ﬁw“s‘lﬁﬂﬁﬁﬂﬁﬁ,ﬁmﬁgﬁﬁﬁ
(1) 59
(3) s

(5) rgaRa v
87. fm & 9 B W S W W A
N AEAY WY ¥ B9 o @ I ¥ U
G
() freor =mg
(2) 4= U
(3) ASTTR ot
S8 FTel 9 BT TS
(5) srgeRar e
8. fog ot A ol arawen , e qowRS @)

HH AT AT Ty 27

2 frgiaeg
R UK GED
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() e e
) o s
() Ra e
B9 T T A R A SR @ st
3 I R S R A ey
¥R U T i 3 ) e @
DET T or?
O Fefrt @) o wew
AT fie (@) 7y
(5) argRer s .
L

e

90. Who defined society as a system of usages and
procedures, of authority and mutual aid, of many
groupings and divisions, of controls of human
behaviour and of liberties?

(1) M. Ginsberg (2) Maclver and Page
(3) John F. Cuber (4) F.H. Giddings
(5) Question not attempted

91. Which of the following is not a test for HIV?
~ (1) Westemn Blot (2) Widal test
(3) RLP.A. (4) ELISA
(5) Question not attempted

92. Wh,O is the author of the book “Ending
Corruption: How to Clean Up India™?
(1) N. Vittal (2) K.S. Mathur
(3) S. Kohli (4) P.C. Choudhary
(5) Question not attempted

93. Suppose, there is a businessman, being a
businessman he _ comes in contact with
customers, agents, income tax officers and trade
unions. The role pattern in dealing with all these,

o dscalled .o . .
(1) Role conflict (2) Status sequence
(3) Role set (4) Status set
(5) Question not attempted

94. Out of the following which concept refers to the
. critical eye on the world, which observes every

social phenomenon in a larger social context?
(1) Social Research

" (2) Sociological Perspective

(3) Social Survey

(4) Social Theory

(5) Question not attefpted

¥ communalism - Assimilationist, Welfarist,
! H Aratie ~aget e ?
. Retreatist, Retaliatory, Separatist, Secessionist

;i.i; (1) . faead
= (3) Ty, BIEal

90. farr T 41 afonw 24 BT AL -
i wonferai va @fad, yfaadn vd qraufin
mﬁsﬁ‘ﬂ LGRS syforai aRi sl QA
@ Pu=i gd @agapi @ agen £
(1) . frant AP fiaigat e a
(3) Gt g, FYH (4) v ga. faisra
(5) argafa ue

@ oy & @ S gasgdl (HIV) @7 fLeoA [

&7 '
(1) 3wA <die (2) fasrd 23
(3) IRAZHLY. (4) yferan

(5) argafta ¥

@'nﬁ:{n FRTA: ¥13 g adH s gfrsar qrae

3 ads oA 87
(2) dra HYR
(4) 1. =@
(5) arqaRa ue
93. W SRR, T& WU &, ¥E @er §19 & il
TEEL, Torel, @R Jf@ridl wun @i
D WS N I R HA G A WAER
@ A o fie FA @ ufame & ae

(1) ¥y wad < (2) gfeafa @
—3Y 3yfi wfomm (4) uferfa wiawe
(5) argalRa weA

o4, Pymfafaa 4 @ I s@EREn glaur W
TS gite F wa axd 8, o v
AT YU @) U@ ANE amiivid @6 4
Q1 o &7
(1) e o

2y IarTE it
(3) wefas wdsor
(8) wrnfars fagia

(5) argalRa we

N = _ .
:95. Who has suggested the following dimensions of s, wivaifem & fFrafafaa sl w1 [YEna

fem fRm - weleRvEd),  sevErE,
yfowel), wfyeuard), Srmaard), gaEEa)?

(1) Ram Ahuja (2) T.K. Oommen (1) I 3ngal ) A, 3
(3) Yogendra Singh (4 G.R. Madan (3) urrs fE (8) SNAR. WG
(5) Question not attempted (5) srpaRa we
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¥0. Who was not the member of First Administrative
Reforms Commission of India?
(1) K. Hanumanthaiah (2) V. Ramchandran
(3) G.S. Pathak (4) Harish Chandra
e Mathur
(5) Question not attempted
97. Which of the following is not a principle of
scientific management?
(1) Use of Science rather than Rule of Thumb
(2) Harmony rather than discord
(3) Individualism rather than cooperation
(4) Maximum production rather than lmuted
production
(5) Question not attempted
98. Which Report of the Second Administrative
Reforms Commission is named as ‘Ethics in
Governance’? ‘ it
(1) Fourth Report (2) Tenth Report ;
(3) Second Report (4) Seventh Report
1 (5) Question not attempted

93. Among the following views regarding the nature
of Public Administration which view was
supported - by Pfiffner, FM. Marx - and
L.D. White?

(1) Managerial view  (2) POCCOC view
(3) Integral view (4) Modern view
(5) Question not attempted

100. Who among the following was appointed as first
Chief Information Commissioner of India under
the provisions of Right to Information’ Act,
20057
(1) O.P. Kejriwal (2) AN. Tiwari
(3) Wajahat Habibullah (4) M.M. Ansari
(5) Question not attempted

101. How many reports were submitted by First

gslmwﬁmmﬁ?ﬁwwg

wow T o1
(1) B, g 1. I
@) ohow Tes - (@) BN T ARR-

(5) SrgaIRa wed
97, fyerferRan i W T ATG T BT Rigm
Kok -
(1) 3R @ frw & ®F W 9 & swg
() wed @ I W -
AWeeaRal 3 WM | Afdag
(4) fi Swed & W W) ARFTH ST
(5) argaa we
98. fa<i yee GUR RT3 BN HideH
BT M YA A Afdwar 27
(1) e wferaea (2) el wfoag |
() qEw ufddeT 4 Erat ufaga
(5) srgaRa we

99mmﬁﬁu§ﬁ$mﬁﬁwﬁm

geal 4 4 FeR, (e amd
@@@mhg&mmmm

T 87
HE gfedm  (2) Y gReavs
AT e (4) sy gRems
() srgaRa wee
1meaﬁaﬂ?$ﬂﬁm2ms$mm‘r$
st fremifda 3§ 4 R aa @ e g
AL AT e fan
M 3P shaa (@) v, fEr)
(3) ToiEd edigeaE M T, iy
(8) IrgaRa v

1°1Wﬁ$§ﬂﬂmﬁ'ﬂiﬁﬂﬂm%ﬁmﬁ

Administrative Reforms Commission of India? gftde TR Y o
(1) Fifteen (2) Eighteen ) gz (2) agRE
(3) Ten (4) Twenty @A) = MY
(5) Question not attempted () 3R e j
AR
22- Page 22 of 32
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!w%ich of the following is o corre

Ct regardin
okpal and Lokayukta Act, 20139 y

) Former Prime Minister j in its

f (2) It will complete (pe

6 months.

(3) It will consist of Chairman & 8 members,
(8) 5 of these will be Judicia] members,

(5) Question not attempted

Jurisdiction,
investigation i

i pmposition of Human Relations Approach?
~ (1) Motivation

-‘iz) Personal interest of employees

:(3) Individual difference

' (4) Informal organisation of employees

v _(5) Question not attempted

A (1) Elton Mayo (2) Herbert Simon
- 3) Mary Parker Follet (4) Chester Barnard

 (5) Question riot attempted

) ‘Zone of Indifference’?
(1) M.P. Follet

,(3) Chester Barnard

- (5) Question not attempted

(2) Elton Mayo
(4) Herbert Simon

106. 1n how many groups did Henri Fayol divide the
; fota]it! of activities of an industrial undertaking?
9 @38

(3) 6 @5
."!‘ (5) Question not attempted

O?E‘Who is the originator of the idea of
" Politics - Administration dichotomy?

8 Wilson
(1) W.F. Willoughby (2 Wooc?row | ils

(3) Mary Parker Follet (4) Henn Fayo

' (5) Question not attempted

L .

05. Who among the following is associated with thar}%“

102. Qrepurer vd eepTga AfEH, 2013 HsH 4

formet 3 R i wE T E?
(1) ud gerrreA ged R 3§ 17

A2 TR 6 WA S e HT |-

(3) 3w y@ JoRAA a1 8 W B |-
@) 37 A 5 =fas |gw 1

(5) argRa e
TG A 27
(1) arfamRor-
(2) FanRal o1 faoh fea
A afdaa 3R
(4) TaRal &1 aAERE e
(5) argafRa we
HHT ST 87
‘f;,m/mw (2) gd2 w3
£ @) 4 TR e (4) AR T
(5) srgaRa W
05. s § A P SIS 6 A,
Frafar 87
(1) . wrele (2) Tees
BT IReR AT @) g4 AgF Y
(5) argafRe we
106. 39 Bl A el shenfis Susma 1 5
il @ fhas wiEl W dfer &2
K] (2) 8
56 @5
(5) argaiRa weA

107. fra faR® A ASRA- mﬂﬂ.ﬁ.@l‘l’\’ﬂﬂ
e e
(1) s s, faddl el facws
@) 30 g Wil (4) 2T oA

(5) argaRa e
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W8. The Third Minnowbrook Conference Was

organised in 2008 which had the theme - ‘Public .

Administration of Future, Public Management of
Future & Public Services of Future’. Who
presided this conference? '
{1) Vincent Ostrom (2) William A.
Niskanen
(3) Rosemary O’Leary (4) L.D. White
(5) Question not attempted
- Under the provisions of Lokpal and Lokayukta
Act, 2013, how many members are required in
the Selection Committce for ‘appointment of
Lokpal?
(1) One Chairman and Two members
(2) One Chairman and Five members
(3) One Chairman and Three members
(4) One Chairman and Four members
{5) Question not attempted
110. Who wrote the book “Public Administration in a
Time of Turbulence™? .
(1) Osborne & Gaebler (2) D. Waldo
(3) Frank Marini (4) Christopher Hood
{5) Question not attempted '

109

1. “A decision making is the selection of one’
behaviour alternative from two or more possible -
alternatives™. This statement was given by -paaz -
(1) Herbert Simon (2) Lundberg E‘_,Pz'
(3) 1.C. Glover (4) George R Terry ~
(5) Question not attempted

112 Which of the following is the correct sequence
of the communication process? ‘
(1) Sender,

108 . frgm 1359 1 2008 GRS

-quﬁqmm?fﬁ?ﬁiﬁmw?mw
) faie airegm - () FARTE 2. ey
(5) argafia o

109. repuTel T4 Aregad AR, 2013 F sy
& aenta, dheara @ PR B 779 whp
§ ot wowm B9 WRA?
FURCE ARG

() o onzer @ ww w3V
_@rue opmel U9 A9 wew 7
(4) T 3AE U9 IR We
(5) araiRe we _
110. “yfiqs TeRFRGRH $7 T TIEH 3% domy
ged fhe ford?

(1) Aad @ Haer  ADE. qee)
(3) v =R () fFeoR T3
(5) reia W

M) 71 ) ¥ e wa fadeal § 9 54 oe
e g &1 g7 o @ fvig o
frae w87

T W @ gesat
@ FH. R () Sfel R R
(5) argaia e

N2 fafafaa & @ 99w ufear &1 wd o9
I 27

Message, Receiver, f‘eedback, .
Medium S () T, <, e, wffa, s
(2) Message, Medium, Sender, Receiver, .
Feedback = - o @) e, e, T, ST, wRifeaT
(3) Sender, Message, Medium, Receiver, wr ; .
Feedback ' ![ail, HIEH, e, wfafaan
(4) Message, Sender, Receiver, Medium WY T | Fent
(] ’ ) ] 4 mﬁf ;m.[
Feedback ) e, ' T, X
(5) Question not attempted (5) (ﬂ'ﬂﬁﬁﬁ PrC]

22-
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'(3) Boss can give orders to only one suprg;

e ; _ Inate,
(4) Boss can give only one orde;.
(5 Quésﬂon not attempted

: o_rding “to the Upanishags,
E!w_ing four states of the soy] -

(1) Jagrat Avastha, Vaikrit Ayagy

" Avastha, Turiya Avastha

| ).;J.?g'?t Avast!la, Swapna Ava;tha, Sushupti

4 Avaslha, Turiya Avastha

(3) Vaikrit Avastha, Swapna Avastha, Sushupti
‘ vastha, Turiya Avastha

F'B,hootadi Avastha, Vaikrit Avastha, Swapna
Avastha, Sushupti Avastha

5) Question not attempted

A

ich of the following statements about the
Vedas is False?

,ajurveda has discourses on rituals.

(2) Vedas are non-human.

there are

a, Swapna

‘supernatural subjects only.
(4 illig'veda is the most ancient.
{ 5)"Question not attempted
which philosophy, it is preached to renounce
'\&ibrldly pleasures and lead a life of austerity

[he Vedas are full of knowledge of

“3-'mﬁwﬁmmmé‘?
(1) 3rfrieer &) Baa U & WY WIS &P
2) iy & daa gF & SRS AR

|

Jﬁ%ﬂﬁmmwmaﬁmé

APl 2|

(4) STfRe dad @ ey & Ahal 2|

(5) argafa weA

114, 3ofwet & R, sharr @ =1 9R @y

.

() S e, dgd @, WA 3EwR,

g
T aEwn, W@

GHEIERD)]
3) dpa Sawen, wWel

raEen

e, qyfer srawe,

@)y oraven, dpd  HaAwT, WWE I,

[y a@wen
(5) argaRa geA
Wi Ry fadd

PITAT HUA N B?

() a9de & FHETe wER T 2|
(2) 93 ordreyg T 1—

(5) IralRe we

6. Ay Wity & forg e WS g1 &1 @1
HRP PR AU 7 R Sfiad FT ITRY

and detachment in order to attain salvation? feq <ol A fear 27
uddhist philosophy (1) 9rg <9
 Charvaka philosophy (2) Tmat® I
ain philosophy éﬁ:@iﬂ LRG|
sandhian philosophy ::; T Eﬁﬁm
Question not attempted Fae |

artes’ Philosophical Method for attaining 1"z mmé;ﬂv §$Wmm gﬁﬁaaﬁ 3R ﬁﬁ:cxmm

in and undisputed knowledge of Soul, God gﬂi .é,,m- HNIEED
(2) Intuitive Aty 'gr—m (i) o TS
(4) Transcendental (3) HATHR (@) srgardia

5 =
uestion not attempted (8) argeiRa
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M% UP® \ the primary consequepc,
ATIIF ) of -~
3 . B.pre B TN I ﬁmm L a Karma? Practicing 3. repm o @ 3 T Hed afRemd 94T 8¢
i 118. According to Kant, which one of the follow1ng 18 T e A J B A ! @) Sel.i I N
1 not included in the essential postulates © ,m’anﬁﬂ B sl v @ Fau .PT‘OVemem wfaT (2) ¥ag H gurR
i morality? o) o e Y o animity (3) Hwerar 4T e W
» (1) Immortality of the soul 2 o7 R stion n .mpted i o
(2) The ability to perform actions @) g‘ﬂﬂ & - s the meaning of “Samy,y Vyayamy
(3) The existence of God () sl g to Buddhist ethics? Yama' 124 g ey @ aER wEE @ B @l
::; greed?m Oftw l]tl ted & R I EEEE PE T4 (1) ust livelihood g &2
uestion not attempte 19. BIBfEF . q-aﬁf | T e
119. Socratic Method is called Dialectical because - L e — £ .“.f'?mmat_lon fo folllow the path of truth ) et hfdwraret
(1) it is a method of argument and counter- ) 78 7@ 3R gfo-a@ B TEh B centration of mind 2) ¥ Wit ® gem 37 fema
argument, : 2 g @@ R 1 ugf Bl rts for the creation of auspiciousness angd At Y e
(2) it is a method of teaching. @3Te e @ TEh 2 & vention of evil @)
(3) itis a method of self-knowledge. (3) 7§ T& ATH & qeh 1 ‘VI'tion W rnoisd I B Sf ok s & PR g WAt
(4 it is a method of Question and Answer. E"‘;_ AT TE T R I $ P () srgaRa we :

{5) Question not attempted L1

120. Of what quality or vow “Mithyopadesha” is a
transgression (atichara) according to Jainism?

(3) In this besides happiness, knowledge, truth,
virtue are also self-achievable auspicious
(4) In this happiness of others is the only ideal
for human actions
(5) Question not attempted
122. Point out the cormrect option from below
regarding the relation of means and end with

120.

122,

(5) argaRd T¥
mmﬁw"ﬁ@?ﬂ'@r'ﬁ?ﬂwmaﬁ

BT Jeeied 87

o1 ch Theory of Punishment does depend upon
ihe concept of Self-Determinism?

nly Deterrent Theory

(1) Samyak-darshana  (2) Achaurya 2 v
! ’ (Non-stealing) i W?h At (2 'R_etributive Theory and Deterrent Theory
\3 (3) Ahimsa (4) Satya (Truth) (@ sfeer I (3) Onli}.liefonﬁative Theory
I (Non-Violence) (5) rgaRa -
(5) Question not attempted (4) Only Retributive Theory
121. This is the correct interpretation of Normative 121 TGP IRNTETE B el AT § - P e s tion not att empted
Utilitarianism - () ged W @1 W & A D FH BT i
(1) In this one’s own happiness is the only, ideal et @ - vy Which notion is expressed in the Nasadiya-Sikta
for human actions h ﬁm R El [ &1 dAftea ga & Rig-VCda?
(2 In this maximum happiness of maximum ot o8 o (2) Theism
people is the ideal @ gt @ & sfife e, T, T & i @ Monism

FI'H‘HTEH‘{PTQ‘ .
(4) 58 TERI BT G & A b HAl BT (HAA
ey & ,

(5) R s .
it & AHfoerer § aftw, v ok TR T
i § Ae-9mT @ ey @) 9a

tion not attempted

tatemnent is false in the context of Mill's
rianism?

iﬁg with quantitative difference, there is
'_'tative difference in happiness.

Eetﬁ:;:to;ocr;ggiolence, Truth and God in the frfefad % & w8 Rew sagd — (2) The auspiciousness of an action s
- o gy, . .
Non-Violence | Truth God (1) —ﬁ'HEF-[ W\qTq—;[ @ determined by the happiness resulting from
(1) means means [ end @) el - 3
) means end end N R3] e o i .

3) end means | end @) wmg T AR (3] ppiness is the basic purpose of all human
4) end end | means (4) urg arg A lres e
(‘;) 1 (:)_2 (1 22 (4) 1 ‘ere is only quantitative difference in

(5)) i = (44 A3 @ 4 happiness
Question not attempted () IR yo (5) i i
2 Question not attempted
——COVEGNME 0 -
22 Page 26 of 32 .

15.3vg &1 s fagra se-fAg=vEe @
IR 4R IR 87

(1) Baat wfeRuree fagr
() vhreree figr ok sfokerers e
gl
(3) Faet gurard) figr
(%) o where® g
(5) e W
126. 7793 @ T I W I URO AR
¥ |
(1) wdwaRarg (2) dvavars
(3) sfrvaRarE PURCCIC
(5) srgaRa weA
127.f9 & IwfiaEe @ Wad ¥ | dA
I _B?

(1) §@ ¥ oRATeTS T B WA [OTHB
TR o 1 i SO S @ R PR g
d
(3) g9 & 7T B T FORl B I W
2l
%ﬁ@ﬁmqﬁwﬁaﬁm‘él

 (5) AR W
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I

qua,' he unit is an Organiseq

' . W # s = Wlé‘l’?\ d experience d of inf
. : _ y e 3
128. ‘Neti-Neti’ is used in the context of ‘Nirgun r &, 9 e & i _ At BpAIof th Signed ect S_O@atlgn
Brahman’, which indicates that - ot rted 78 7 RYaT ‘llﬂﬂ CaREL RS outCO e learner » 1gnificant
(A) this is a negation of the qualities relat A) e 7 A ST o1 ay g deﬁmt.lon? O Bave thig
to Brahman B) ‘(1) Good
(B) this is the realization of the €) T Fa1 & WO ?ﬂ N fadrem 2 (3; Morrison ()Wesley
indescribability of Brahman ) Pl oy @ A © @ Herbery
i ©) ﬂ}l; 1.;; Saguna explanation of the nature % 7 7T T - (5) Question not attempte
of Brahman faed
C
(D) its culmination is silence MATB @ & 3. oclal paence s Subject Which deglg with
1 Select the correct option - @ABdC g (a) Man -
! (1) A and B are correct ' Al (b) Man and his rela
| {2) A, B and C are correct @B C W . ) dhi 11 ot mep
!‘ (3) B and C are correct @ABdD @ § c Man and his enviropnmep, S
‘ | ; {4) A, B and D are correct (5) 3Hﬂﬁﬁ P ES ChOOse the correct code . L%
1 (5) Question not attempted 129, T ¥ T8 ¥ ) (a) (b) and (c) @ Only 4
128. Which is not a Vedanga? o AT @ v= y (b)
(1) Shiksha (2) Chhanda - “’ ar (3) Only (@ and (6)  (4) Only (4) g ®)
(3) Kalpa {4) Ganita (3) FH (5) Question not attempteq
‘ (5) Question not attempted s (5 Gﬂﬁﬁa W_\;{ ﬁﬁa i -
! 130. The peaceful attitude induced. by the 130. el B ;lil id T 3 . 136. hich of the following is correct regarding
l contemplation of art is the best illustration of - g & — 2) essay type questions?
| (1) Vijnanamaya-Kosha(2) Anandamaya-Kosha (1) Rerma o b1 (2) AT B Fy (@ Opportunity to thought expression
(3) Pranamaya-Kosha {4) Manomaya-Kosha (3) W B BT AT TG B @ (b) Objectivity in evaluation
(5) Question not attempted (5) IFART T @

Evaluation of writing skills
( .Evaluation of critical thinking
6ose the correct code -

131. fpfafad 9 & S AT GGG fagm
fveror ¥ wgEay @ Wewd &1 3 TE awar

|

| 131. Which of the following statement does not
il . . . . 3 .
1 ; indicate the importance of correlation in Social

‘ Science teaching? S B GUTIRT BT A PR 2 | (1) (a), (c) & (d @
| (1) Realization of the segregation of knowledgeX (2) TRzt T GESET AT B O a2 ¢ ) ) (b) & (c)
(2) Facts become easier to understand. , ' -, 1'F. % () 5 o1 e s we a2 ) (a), (b) & () ) () & (d)
(3) Provides practical application of knowledge. (@) T B MR B BH B 2| (5) Questlon not attempted
(4) Reduces the burden of curriculum. ' > 7.
(5] Question not atfempted (5) srgeRa wem 137.Uy der visual instructional support material,
132. The most essential and specific quahty of a 132.u% wrifore fasmm Rwe &1 waifts smaers Which type of map is not included in cultural
Social Science teacher is - 3R faftre o & - maps?
g)) MDde]'l:l clothing/ d.ressmg (1) 3mgfAe JenqEr R () Political (2) Economic
@ Attractive personality (2) e Afdaar (3) Population (4) Geological
Updated knowledge in subject BT R T e (5) i d
(4) Many higher degrees (@) 3% St ST E W Questxon not attempte
(5) Question not attempted 5 . r'm ormal and Informal Group Plans are the forms
p (5) aqeila wemr ¢ P
‘33-? relation to type of questions, which of the 133. 4% & waR @ waer §, fyfereq @ w7 SOf which teaching method of Social Science?
ollowing pair is not correct? 2 ‘ )R i
, WA 1) Brai : 2) Project
(1) Multiple choice - Recognition E@zﬁm Tafls s P o Pro;‘ec‘
(2) True/False - Recognition (2) W /9T — e B D) Problem Solving (4 Socialized
(3) Blank completion - Recall (3) R o — werERY , 3 - Recitation

(4) Matching - Recall
(5) Question not attempted

22- %

(5 il_Question not attempted
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134 "G, W 9N i @1 TE WS [T
2, R Remit @ Ry weeaqet wRom @Y e
B B forg afiafea fmar mar & 1 g8 g
foery &) 27

1) e e
@) wre= @) &
(5) argaRa e

‘“mﬁmﬁaﬁwww% S Hafta
¥ _

(a) 99 9
(b) 9T TE 3G HIEET B AR 9HP Gaut |
(c) AT Ud S9S qaiaRoT A
HE g BT T BT —

AW (@), ®) T () (2 DI (b)
339 (a) W@ () (4) B9 (a) W (b)
(8) argaRa weA

136, fyqurers wel @ day A f=fafaa § @ @&
wE 2?7
(a) ﬁiﬂmﬂmﬁﬁa’mﬁm
(b) FiHa # TRIFASAA
() oG BRI B [
d) TS T B e
e FT & 997 DY —

), (c) 1@ (d) (2) (b) T (c)
@) (a), (b) T (c) (4) (b) W@ (d)
(5) srgaRa oA
137.

WEad 9rrll @ 3iafa fea
mmmﬁawﬁgw@ﬁm
8 2? .

(2) anfefs

() TS
() FTEE ARFfie
(5) argaRa wea

138, ofemRs T sTRE wE (@) e
e fasm @t e R Ry & wg §2
() mRes 2 (2) ok () X
(3) TR WX MRS st
(5) srgeRa weA '
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{ 139.In which step of Problem Solving Methg(li,
i students are led to think over for all the possibie f@ar F @ faw aRka farar S

1 tentative solutions of the problem? (1) GREFET T ffor
(1) Formulation of hypothesis (2) ST BT v
. (2) Analysis of information (3) ezl @ Ptz
1.1 (3) Determination of objectives Ay T A T Prepd

(4) Conclusion of the problem solving
(5) Question not attempted

1 140. Which one of the following is correct sequence

il of Herbartian five step approach of lesson plaﬂ?
‘ (a) Preparation @)

: [
(b) Presentation (b) TR

(c) Application i il (c)

(5) argaRd we
Prefefad A @ =T & P9 27

(d) Evaluation @ ‘lFW""'f

{e) Generalization : (e) THRITEAROT

(f) Association S:gw () |ETA

Choose the correct code - z Gl @ Bl =g Fiferg —

(;) abodf g; b.;,tfieacf : iuim a,b,c,df @b,c,d,ef
3 a,b,c,de a,b,1,e, ﬂa,b c.de (@) a,b,f,e,c

(5) Question not attempted : (5) orgciRel e
141. Which one of the following is not a technical
characteristic of a good test? -

(1) Reliability (2) Subjectivity
(3) Discriminative (4) Validity
(5) Question not attempted
142. Drawing and locating a country on a map is
associated with which one of the followmg
objective?
(1) Recognition (2) Organization
(3) Comprehensive {4} Skill
(5) Question not attempted
143. According to Edgar Dale; which of the folfowmg

RERICIRER ST
(1) Rremagar

(5) argaRa we

(2) fAwafassar
(4) qerem

(1) vyt
_Br3aa
(8) argaRa weA

(2) §37K
(4) BrIrAT

is the highest level of indirect abstract wff Cﬂﬂ‘lﬁﬁ B Ian WY 27 .
experiences? ‘ . 1 i .
{1) Visual symbol (2) Verbal symbol () zea A Hoa
(3) Exhibition (4) Field trip (3) wee (@) &= T

(5) Question not attempted (5) srgaRa we
144. According to Bloom Taxonomy, which of thev

following type of questions are not suitable to"’
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